
MRZ-U31  MRZ EX Conversion 

Version 1.0 (15-07-2023) 

1 
      

 
 
 
  
 
 
 
 
 
 
 
 
 
 
` 
 

 
 
 

 
  

Right Arm 

Left Arm 

 Step 01 –Lower Arms (Open Bag 01) 

Carbon Plate 

PM 1.2 x 3 

Chassis Plate (Not included) 

Right Arm Mount 

 Step 02 –Lower Arm Mounts 

Left Arm Mount 

KM 1.6 x 4 

PM 1.2 x 3 

Droop screw tip come out 0.5mm 

KM 1.6 x 4 



MRZ-U31  MRZ EX Conversion 

Version 1.0 (15-07-2023) 

2 
      

c  
 Step 03 –Front Bulkhead 

Front Bulkhead 

1.5 x 12 pin 

1.6 x 2.7 x 0.2 shim 

KM 2 x 4 

 Step 04 –Steering Plate (Open Bag 02) 

KM 2 x 4 

2.5 * 7 * 0.5 Steel Shim 

New Steering Plate 

Hex Nut- Slowly secure this nut to make sure 

the crank has least wobble and rotate freely. 

KM 2*9 (recommend using screw glue to 

secure the steering post) 

Steering Crank and hardware (not 

included) 

Upgrade parts: 

MRZ-UP27 Alu. Front Bulkhead 

Upgrade parts: 

MRZ-UP12 Alu. Steering Crank 



MRZ-U31  MRZ EX Conversion 

Version 1.0 (15-07-2023) 

3 
      

 
  

 Step 05 –Upper Arms 

M2 x 2 Set Screw 

1.6 x 2.7 x 0.2 shim 

1.5 x 10 pin 

Right Arm 

Left Arm 

Upper Arm Mount 

 Step 4.1 –Steering Angle Limiter 

KM 2 x 4 

M2 x 3.2 x 3 Brass Nut 

Use the 1.5mm drill bit to remove the flash 

and debris from the arm pin hole.  

(Provided in this package) 



MRZ-U31  MRZ EX Conversion 

Version 1.0 (15-07-2023) 

4 
      

○1  Fix the M2 end to the Ball Cap  
 
  

 Step 06 –Turnbuckles 

 Step 07 –Upper Arm Mount 

KM 2 x 4 

Turnbuckle 
3.5 Ball Cap 

M1.4 side= Normal Thread 

M2.0 side= Reverse Thread 

KM 2 x 4 

○2  Fix the M1.4 end to the arm.  

Leave 0.5mm gab 

Leave 0.5mm gab 



MRZ-U31  MRZ EX Conversion 

Version 1.0 (15-07-2023) 

5 
      

 
 
  

 Step 08 –Pivot Ball (Open Bag 03) 

 Step 09 –Steering Knuckle (2WD Wheel Type) 

Insert the Pivot Ball vertically and then 

turn 90 degrees inside the groove.  

Cup Head M2 x 9 

2.5 Ball Head (Not included) 

M2 x 0.7mm Brass Shim 2 pcs 

Right Knuckle 

Left Knuckle 

For MRT or MRZ Pro, which using AWD wheel knuckle, please jump to step 13. 

Servo and servo mount 

(Not included) 

Knuckle and Axle (Not included) 

Upgrade parts: 

MRZ-UP09 Alu. Knuckle 

Upgrade parts: 

MRZ-UP08 Alu. Servo Mount 



MRZ-U31  MRZ EX Conversion 

Version 1.0 (15-07-2023) 

6 
      

 
 
 
  

 Step 10 –Steering Knuckle (2WD Wheel Type) 

KM 2 x 16 

Conical Collar, inclined side facing 

toward the hollow ball. 

2 x 4 x 0.5 steel shim 4 pcs 

2 x 4 x 0.5 steel shim 4 pcs 

3.5mm Ball Head 

Left Knuckle 

 
Step 11 –Steering System  

(2WD Wheel Type) 

KM 2 x 4 

KM 2 x 4 
KM 2 x 4 



MRZ-U31  MRZ EX Conversion 

Version 1.0 (15-07-2023) 

7 
      

Turnbuckle and 2.5 Ball cap 

10.3mm 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

Normal Thread Reverse Thread 

Recommend using wheel: 

Front 2WD N-0 offset wheel (=74mm width) 

 

 Step 12 –Linkages (2WD Wheel Type) 

Use 17 mm long Turnbuckle for 2WD knuckle. 

Rotate the turnbuckle to adjust the camber angle: 

1.5 degree is a recommended. 



MRZ-U31  MRZ EX Conversion 

Version 1.0 (15-07-2023) 

8 
      

Short Wheel Shaft 

  

M1.6 Nut 

2 x 4 x 0.1 Steel Shim 

It may need 1 or 2 pcs of 0.1mm shim to 

minimize the play of shaft. 

M2 x 0.7mm Brass Shim 3 pcs 

M2 x 3.2 x 3 Brass Nut 

M2 x 9 Cup Head 

 Step 13 –Steering Knuckle (AWD Wheel Type) 

Right Knuckle 

 Step 14 –Steering Knuckle (AWD Wheel Type) 

Conical Collar, inclined side 

facing toward the hollow ball. 

2 x 4 x 0.5 steel shim 1 pcs 

3.5 Ball Head Short Leg 

KM 2 x 7 

Right Knuckle 



MRZ-U31  MRZ EX Conversion 

Version 1.0 (15-07-2023) 

9 
      

9.0 mm 

  
 Step 15 –Steering System (AWD Wheel Type) 

KM 2 x 4 

KM 2 x 4 
KM 2 x 4 

Use 15 mm long Turnbuckle for AWD knuckle. 

Normal Thread  Step 16 –Linkages  Reverse Thread 



MRZ-U31  MRZ EX Conversion 

Version 1.0 (15-07-2023) 

10 
      

 
 
 

 
 
 

 
 
 
 

 
 
 
 
 
 
 
 
 
  

Recommend using wheel: 

Front AWD N+1.5 offset wheel (=74mm width) 

 

Rotate the turnbuckle to adjust the camber angle: 

1.5 degree is a recommended. 

 Step 17 –Front Dampers (Open Bag 04) 

Cut x 2 pcs 

Cut the first Segment of the damper leg. 



MRZ-U31  MRZ EX Conversion 

Version 1.0 (15-07-2023) 

11 
      

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 Step 18 –Dampers 

3.5 Ball Long Leg 

 Step 19 –Adjust Spring Tension  

3.5 Ball Long Leg 

Damper Tube 

Damper Stick 


